[image: image1.png]1. (14 points) The “Night Key" shoe company manufactures glow-in-the-dark athletic
shoes. The company was designing a new sneaker and they wanted to determine which
attributes were important to their target population, undergraduate college students.
They decided to do a conjoint analysis to study four attributes: (1) material for upper
part of shoe; (2) material used for sole; (3) price; and (4) whether or not the shoe has
been endorsed by Cleveland’s star LeBron James. The first attribute, “upper,” was
described on three levels — leather, canvas, and nylon; the second attribute, “sole,”
was described on three levels — rubber, polyurethane, and plastic; the third attribute
was described on three levels — $40.00, $50.00, and $60.00; and the fourth attribute
had two levels, yes and no. They used a design of 18 shoe profiles described on these
four attributes. The design was selected so that the attributes were uncorrelated. The
had 50 randomly selected undergraduates rank the cards from “1” (most preferred) to
“18” (least preferred). Each student’s data were analyzed by regression analysis after
first transforming the dependent variable such that “18” represented most preferred
and “1” least preferred, i.e., newrank = 19 — oldrank.

The regression results for one student are as follows:




[image: image2.png]1. Predictor Coef  SE Coef T P

INTERCEP  -0.111111  0.6126 -0.181 0.8597
LEATHER 6.000000  0.5305 11.309 0.0001
CANVAS 2.000000  0.5305 3.770 0.0037
RUBBER 0.666667  0.5305 1.257 0.2375
POLY 1.333333  0.5305 2.513 0.0307
FORTY 10.666667  0.5305 20.105 0.0001
FIFTY 7.333333  0.5305 13.822 0.0001
LeBYES 0.555556  0.4332 1.282 0.2286

2. Logistic Regression Table

oads
Predictor Coef  SE Coef z P Ratio
Intercept -1.5253  0.0339  2021.0207 <.0001
freq 0.2048  0.00606  1144.3412 <.0001 1.227
recency -0.5210  0.0120  1871.0745 <.0001

Log-likelihood = -13434.66
Test that all slopes are zero: DF=2, P-value<.0001
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(2 points) How should the designer of a conjoint study choose a subset of the
combinations (circle all that apply)?
i. One should never choose a subset — use them all.
ii. Choose combinations so that all the attributes are uncorrelated,
iii. Pick enough attributes so that the number of combinations is uncorrelated
with the sample size.

(1 point) How many possible combinations of attributes levels are there?

(2 points) On the basis of this regression equation, what is the profile (what
attributes does it have) of the most preferred shoe for this student? What is its
expected ranking (after “19—" transformation)? (circle best answer)

i. Nylon, plastic, $40, endorsed by LeBron. New rank = 18

i, Leather, polyurethane, $40, not endorsed by LeBron. New rank = 17.9.

iii. Leather, polyurethane, $40, endorsed by LeBron. New rank = 18.43.
(2 points) On average, what is the difference in utility (ranking) between a shoe
with a nylon upper and a leather upper?

(2 points) What is the relative importance of each attribute to this student (You
must give relative importance scores to receive full credit




[image: image4.png](£) (1 points) Which of the attributes is most important (give only one attribute)?

(2) (2 points) What does the intercept term in the regression equation represent
(Circle all that apply)?
i. The value of the  intercept.
iil. Estimated rank of a shoe with nylon upper, plastic soles, costing $60, with
LeBron’s endorsement.
iii. Estimated rank of a shoe with nylon upper, plastic soles, costing $60,
LeBron’s endorsement.
iv. The bias or error introduced by the regression sample.
v. Decrease in total utility for the shoe (the initial preference in the new sneaker
before any attribute is negative)
vi. The utility if all the attributes were zero.

ithout

(1) (2 points) The analyst chose to use leather and canvas as duniy variables when
doing the regression. What would the estimated coefficients have been if the
analyst had used leather and nylon as dummy variables?

Leather = Nylon




